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(ONLINE EXAM) 

(Objective Questions) 

( ) 

Attempt each question:      50x2=100 

(1) In ECG, ‘E’ stands for - 
(a) Electro    (b) Electronics 
(c) Electrical   (d) None  
ECG  ‘E’  
(a) Electro    (b) Electronics 
(c) Electrical   (d) 

 
(2) The Intracellular compartment accommodates approximately- 

(a) 20% Water   (b) 10% Water   
(c) 30% Water   (d) None  
Intracellular  
(a) 20%    (b) 10%    
(c) 30%    (d) 
 

(3) Coughing of blood means - 
(a) Hemoptysis   (b) Bronchiectasis  
(c) Cyanosis   (d) None 

(a) Hemoptysis   (b) Bronchiectasis 
(c) Cyanosis  (d) 

 
(4)  The Connector between the ECF and Nucleus is - 

(a)  Endoplasmic reticulum (b) Golgi Apparatus 
(c) Cell Membrane  (d) None  
ECF Nucleus Connector  
(a) Endoplasmic reticulum (b) Golgi Apparatus 
(c) Cell Membrane  (d) 

 



 
(5) Enzyme that breaks down proteins in stomach is- 

(a) Ptyalin    (b) Amylase  
(c) Pepsin    (d) None  

 
(a) Ptyalin    (b) Amylase    
(c) Pepsin    (d) 

(6) Erythropoiesis is - 
(a) Genesis of RBC  (b) Destruction of RBC  
(c) Both    (d) None  
Erythropoiesis  
(a)   (b)   
(c)   (d) 

(7) The ______cells are found more in adipose tissue - 
(a) Plasma cells    (b) Mast cells   
(c) White Fat cells(Adipocytes) (d) None 

 
(a)    (b)    
(c)  (d)  

 
(8) Adipose tissue is related to- 

(a) Hair    (b) Nails 
(c) Skin    (d) None  

 
(a)     (b)  

 (c)  (d) 
 
(9) Anemia is caused by deficiency of - 

(a) Iron    (b) Protein 
(c) Both    (d) None 

 
(a)  (b)  
(c)     (d) 

(10) In TLC, ‘C’ stands for - 
(a)  Carpal    (b) Cell  
(c) Count    (d) None  
TLC  ‘C’  
(a)  Carpal    (b) Cell  
(c) Count    (d) 



(11)  Production of antibodies are function of– 
(a) Erythrocyte   (b) Leucocyte 
(c) Thrombocyte   (d) None  

 
(a) Erythrocyte   (b) Leucocyte 
(c) Thrombocyte   (d) 

(12)  The smallest and narrowest blood vessels are called - 
(a)  Venules   (b) Arterioles  
(c) Both    (d) None 

 
(a) Venules    (b) Arterioles  
(c)   (d) 

(13) Histamines are found in - 
(a)  Neutrophils   (b) Eosinophils   
(c) Basophils   (d) None  

 
(a)  Neutrophils   (b) Eosinophils   
(c) Basophils (d)

(14) The surface of the body is covered by - 
(a)  Muscular tissue  (b) Connective tissue   
(c) Epithelial tissue  (d) None 

 
(a) Muscular tissue  (b) Connective tissue   
(c) Epithelial tissue  (d) 

(15) Urine is formed in - 
(a)  Ureter    (b) Urinary Bladder 

 (c) Kidneys    (d) None 
 

 (a)     (b)  
(c)  (d) 

(16) Which of the following is a part of Large Intestine - 
(a)  Cecum    (b) Rectum   
(c) Appendix   (d) All 

 
(a)     (b)    
(c)     (d) 



(17) Pneumonia is a disease of - 
(a) Kidney    (b) Heart   
(c) Liver    (d) None  

 
(a)   (b)    
(c)     (d) 

(18)  The balance between the external and internal atmosphere ofthe 
body is known as- 
(a) Homeostasis   (b) Blood stasis 
(c) Qi stasis   (d) None 

(a) Homeostasis   (b) Blood stasis  
(c) Qi stasis   (d) 
 

(19)  Another name of Pacemaker is  - 
(a) AV Bundle   (b) AV Node   
(c) SA Node   (d) None 

(a) AV Bundle   (b) AV Node  
(c) SA Node  (d) 

(20) Inflammation of the Heart’s muscles is- 
(a) Pericarditis   (b) Myocarditis 
(c) Endocarditis   (d) All 

 
(a) Pericarditis   (b) Myocarditis  
(c) Endocarditis  (d) 
 

(21) Abnormal apoptosis probably occurs in- 
(a) Diabetes   (b) Cancer 
(c) Hypertension   (d) None 

 
(a)     (b)   
(c)   (d) 

 
(22)  Which of the following is a part of the digestive system - 

(a) Esophagus   (b) Foodpipe  
(c) Oral cavity   (d) All 

 
(a) Esophagus   (b) Foodpipe 
(c) Oral cavity   (d) 

  



(23) Negative-charged ions are called as - 
(a) Cat ions   (b) An ions   
(c) Both    (d) None  

 
(a)    (b) 
(c)     (d) 

(24)  Amylase is a type of - 
(a) Carbohydrate   (b) Protein  
(c) Lipid    (d) None  
Amylase  
(a) Carbohydrate   (b) Protein  
(c) Lipid    (d) 

(25) Approximately 75% of Saliva is secreted by - 
(a)  Parotid glands  (b) Submandibular glands  
(c) Sublingual glands  (d) None  

75%  
(a) Parotid glands  (b) Submandibular glands 
(c) Sublingual glands  (d) 

(26) Which cell organelle gets activated during cell-division - 
(a) Mesosome   (b) Ribosome  
(c) Lysosome   (d) None  

 
(a) Mesosome   (b) Ribosome 
(c) Lysosome (d) 

(27) How many types of T-lymphocytes are there - 
(a) Two    (b) Three   
(c) Four    (d) None  
T-lymphocytes  
(a)      (b)    
(c)     (d) 

(28) Layers of muscles of Heart are called as - 
(a) Myocardium   (b) Endocardium   
(c) Pericardium   (d) All 

 
(a) Myocardium   (b) Endocardium   
(c) Pericardium   (d) 

 



(29) Blood is a type of – 
(a) Cell    (b) Connective tissue  
(c) Epithelial tissue  (d) None  

 
(a)    (b)  
(c)    (d) 

 
(30) “Islets of Langerhans” is found in - 

(a) Connective tissue  (b) Thyroid   
(c) Testes    (d) None  
Islets of Langerhans 
(a)     (b)   
(c)     (d) 

(31) Oropharynx is connected to the - 
(a) Upper Esophagus  (b) Lower Esophagus  
(c) Stomach   (d) None  
Oropharynx  
(a)   (b)   
(c)  (d) 

(32)  The function of lymphatic system is to maintain- 
(a)  Immunity   (b) Homeostasis 
(c) Both    (d) None 

 
(a)   (b)  
(c)  (d)  
 

(33) Bowman’s capsule is a part of - 
(a) Neutron    (b) Nephron  
(c) Neuron`    (d) None  

 
(a)    (b)   
(c)    (d) 

(34) High level of uric acid may indicate – 
(a) Renal cholic   (b) Gout  
(c) UTI    (d) None 

 
(a) Renal cholic   (b) Gout 
(c) UTI   (d) 

 



(35) _______secrets erythropoietin hormone - 
(a) Liver    (b) Spleen 
(c) Kidneys    (d) None 

 
(a)     (b)  

(c)     (d) 

(36) _______is the universal recipient blood group - 
(a) A     (b) B 
(c) AB    (d) None 

 
(a)  A     (b) B  
(c) AB (d)  

(37) _____in spleen is the site of lymphocyte production - 
(a) White pulp   (b) Red pulp  
(c) Both    (d) None 

 
(a)    (b)    
(c) (d)  

(38) Lymph is derived from- 
(a)  Interstitial fluid  (b) Spinal fluid 
(c) Cerebral fluid   (d) None 

(a)  Interstitial fluid  (b) Spinal fluid  
(c) Cerebral fluid   (d) 

(39) The portion from the nasal cavity to the trachea is called - 
(a)  Pharynx   (b) Larynx  
(c) Bronchi    (d) None 

trachea  

(a)  Pharynx   (b) Larynx  
(c) Bronchi    (d) 
 

(40)  Which of the following is a passive process - 
(a) Breathing   (b) Inhalation   
(c) Exhalation   (d) None  

 
(a)    (b)    
(c)     (d)  

  



(41) When sugar in the blood is reduced, the control center in the brain 
gets signal of - 
(a) Sleep    (b) Hunger 
(c) Both    (d) None  

 
(a)     (b)  
(c)    (d)  

(42)  Less glucose in urine may indicate - 
(a) Diabetes   (b) Hypoglycemia  
(c) Both    (d) None  

 
(a)   (b)    
(c)   (d) 

(43) ____of chromosomes carries genetic message - 
(a)  RNA    (b) DNA 
(c) Both    (d) None 

 
(a) RNA    (b) DNA 
(c)   (d)  

(44) Which protein is required for the formation of antibodies - 
(a) Albumin    (b) Globulin    
(c) Fibrinogen   (d) None 

 
(a) Albumin    (b) Globulin    
(c) Fibrinogen   (d) 
 

(45) Which of the following is a micronutrient - 
(a) Protein    (b) Fat    
(c) Vitamin    (d) None  

 
(a)     (b)     
(c)     (d) 

(46)  Dyspnea means difficulty in - 
(a) Hearing    (b) Breathing  
(c) Walking    (d) None  
Dyspnea  
(a)   (b)   
(c)   (d) 

 



(47) Hydrochloric acid is - 
(a) True electrolyte  (b) Strong electrolyte   
(c) Weak electrolyte  (d) None  
Hydrochloric acid  
(a) True electrolyte  (b) Strong electrolyte 
(c) Weak electrolyte  (d) 

(48) Diffusion of gases takes place in - 
(a) Bronchi    (b) Alveoli 
(c) Villi    (d) None  

 
(a) Bronchi    (b) Alveoli  
(c) Villi    (d) 

(49) The right side of the Heart has - 
(a) Aortic valve   (b) Pulmonary valve  
(c) Tri-cuspid valve  (d) None  

 
(a) Aortic valve   (b) Pulmonary valve  
(c) Tri-cuspid valve  (d) 

(50)    Most harmful Cholesterol is - 
(a) HDL    (b) LDL  
(c) VLDL    (d) None  

 
(a) HDL    (b) LDL
(c) VLDL    (d)  

   ………..

 



ACUPRESSURE SHODH PRASHIKSHAN EVAM UPCHAR SANSTHAN 
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             SESSION JAN – JUNE 2023 

ASPEUS CORRESPONDENCE DIPLOMA COURSE-SEM – 5(MADAHS-I) 

    CHINESE ACUPRESSURE (CA-5) 

TIME – 1.30 HRS       MAX MARKS-100 

     (ONLINE EXAM) 

   Objective Questions( ) 

Attempt each question:      50x2=100 

(1) Organ related to Agni element is- 
(a) Heart    (b) Pericardium   
(c) Both     (d) None 

(a)     (b)    
(c)      (d)  

(2) Hotness energy related organ is- 
(a) Heart    (b) Pericardium  
(c) Both     (d) None 
Hotness energy  
(a)   (b)   
(c)   (d) 

 
(3)  Speech is related to - 

(a) Heart     (b) Kidney 
(c) Lungs    (d) None 

 
(a)     (b)  
(c)   (d)  

 
(4)  Short breath while working may be due to - 

(a) Kidney    (b) Lungs  
(c) Heart    (d) None 

 
(a)   (b)  
(c)   (d) 



(5) Much talking is the symptom of - 
(a) Liver     (b) Lungs 
(c) Heart    (d) None 

 
(a)      (b)    
(c) (d) 

 
(6) Longer tongue indicates - 

(a) Heart fire    (b) Heart blood 
(c) Heart Yin    (d) None 

 
(a) Heart fire    (b) Heart blood
(c) Heart Yin    (d)

(7) Source and xi-cleft points of the Heart are - 
(a) H-7, H-5    (b) H-9, H-7  
(c) H-7, H-8    (d) None 

Source and xi-cleft  

(a) H-7, H-5    (b) H-9, H-7  
(c) H-7, H-8   (d)

 
(8) Water point of the Heart is- 

(a) H-7     (b) H-8   
(c) H-3     (d) None

Water point  
(a) H-7     (b) H-8  
(c) H-3    (d) 

 
(9) While eating, food goes into  Esophagus, treatment will be on- 

(a) H - 9     (b) P - 9  
(c) Lu – 11    (d) None 

 
(a) H - 9     (b) P - 9  
(c) Lu – 11    (d)  

  



 
(10) According to EAV, how many points are in the Heart meridian - 

(a) 17     (b) 16 
(c)  9     (d) None 
EAV Heart  
(a) 17     (b) 16 
(c) 9    (d) 

 
(11) Son organ of Lungs is - 

(a) Kidney    (b) Large intestine 
(c) Heart    (d) None 
Lungs Son organ  
(a)     (b)  
(c)     (d)  

 
(12) Mother organ of Lungs is - 

(a) Spleen    (b) Kidney  
(c) Heart    (d) None  
Lungs Mother organ  
(a)   (b)  
(c)   (d)  

 
(13) Frequent cold and cough is the cause of- 

(a) Lungs Qi deficiency  (b) Lungs Yin deficiency  
(c) Lungs dryness   (d) None  

 
(a) Qi   (b) Yin   
(c) (d) 
 

(14) Organ associated to Asthma is- 
(a) Lungs    (b) Heart  
(c) Both     (d) None  

(a)    (b)   
(c)    (d)

(15) Difficulty in inhalationis related to - 
(a) Lungs    (b) Kidney   
(c) Both     (d) None  

 
(a)   (b) 
(c) (d) 



(16) Breathing problem while sitting is the symptom of- 
(a) Bronchial asthma  (b) Cardiac asthma   
(c) Allergic asthma   (d) None  

 
(a) Bronchial asthma   (b) Cardiac asthma  
(c) Allergic asthma   (d) 
 

(17) Sedation colour of Lu-Li is - 
(a) Red     (b) Brown  
(c) Green    (d) None  

Lu-Li  
(a)  (b)  
(c) (d) 
 

(18) Xi-cleft points of Lu-Li are - 
(a) Lu-6, Li-7    (b) Lu-6, Li-4   
(c) Lu-9, Li-4     (d) None  
Lu-Li Xi-cleft points  
(a) Lu-6, Li-7    (b) Lu-6, Li-4  
(c) Lu-9, Li-4    (d)
 

(19) Passage point of Lungs meridian is - 
(a) Lu-7     (b) Lu-9  
(c) Lu-8     (d) None  
Lungs meridian passage point  
(a) Lu-7     (b) Lu-9  
(c) Lu-8 (d)

(20) Oxygen point is- 
(a) Lu-4     (b) Lu-9  
(c) Lu-10    (d) None  
Oxygen  
(a) Lu-4     (b) Lu-9   
(c) Lu-10    (d)

  



(21)  Pain in thumbs will be treated on- 
(a) Lu-11    (b) Lu-1  
(c) Both     (d) None  

 
(a) Lu-11     (b) Lu-1    
(c) (d)  

(22) Back Shu point of Lungs and Heartare - 
(a) UB-13, UB-15   (b) UB-13, UB- 23   
(c) UB-15,UB-23   (d) None  
Lungs Heart Back Shu  
(a) UB-13, UB-15   (b) UB-13, UB- 23
(c) UB-15,UB-23   (d) 
 

(23) Pulse meeting point is - 
(a) Lu-9     (b) Cv-17 
(c) UB-11    (d) None  
Pulse meeting  
(a) Lu-9     (b) Cv-17
(c) UB-11   (d) 
 

(24) High fever may be due to - 
(a) Wind-heat    (b) Wind-cold   
(c) Both     (d) None  

 
(a) Wind-heat    (b) Wind-cold  
(c)     (d)
 

(25) Horary point of Heart is- 
(a) H-8     (b) H-9  
(c) H-7     (d) None  
Heart Horary point  
(a) H-8     (b) H-9  
(c) H-7   (d)
 

(26) Polyuria may be due to - 
(a) Kidney    (b) Heart  
(c) Liver     (d) None  
Polyuria  
(a)     (b) 
(c)  (d)



(27) UTI may be due to - 
(a) Humid-heat in UB  (b) Humid-heat in Spleen  
(c) Both     (d) None  
UTI  
(a) Humid-heat in UB  (b) Humid-heat in Spleen
(c)  (d) 

(28) Infection in TCM is known as - 
(a) Humid heat    (b) Wind heat  
(c) Humid cold   (d) None  
TCM  
(a) Humid heat    (b) Wind heat 
(c)Humid cold    (d)
 

(29) UB-11 is point of- 
(a) Bone meeting    (b) Blood meeting   
(c) Pulse meeting    (d) None  
UB-11  
(a) Bone meeting point  (b) Blood meeting point  
(c) Pulse meeting point  (d)  

(30) Dry cough may be due to - 
(a) Lu Yin deficiency  (b) Lu Qi deficiency 
(c) Both     (d) None  

 
(a)   (b) Qi  
(c)   (d) 
 

(31) Stammering may be due to-- 
(a) Heart Qi deficiency  (b) Lungs Qi deficiency  
(c) Kidney Qi deficiency  (d) None  

 
(a) Heart Qi deficiency  (b) Lungs Qi deficiency 
(c) Kidney Qi deficiency  (d)

(32) Organs related to Earth element are – 
(a) Sp - St    (b) Liv - GB  
(c) Lu- Li    (d) None.  

 
(a) Sp - St    (b) Liv - GB 
(c) Lu- Li    (d) 

 



(33) Colour related to Earth element is – 
(a) Yellow    (b) Green  
(c) Brown    (d) None.  

 
(a)      (b)  
(c)     (d) 
 

(34) Humidity energy is controlled by - 
(a) Wind     (b) Wood  
(c) Cold     (d) None  

 
(a) Wind    (b) Wood  
(c) Cold     (d)
 

(35) Husband organ of the Stomach is - 
(a) Spleen    (b) Liver  
(c) Kidney    (d) None  

 
(a)      (b)    
(c) (d) 

(36) Tonification colour of Small Intestine is- 
(a) Red     (b) Black   
(c) Yellow    (d) None  

 
(a)    (b)    
(c)   (d)
 

(37) Loose motion in the summer season may be due to - 
(a) Attack of Humid heat in Sp (b) Attack of humid cold in Sp 
(c) Both     (d) None  

(Loose motion)  
(a) Attack of Humid heat in Sp (b) Attack of humid cold in Sp 
(c)     (d)  

 
(38) Bad smell from mouth may be due to- 

(a) Stomach heat   (b) Heart heat  
(c) Liver heat    (d) None  

 
(a) Stomach heat   (b) Heart heat  
(c) Liver heat    (d) 

 



(39) Weakness may be due to - 
(a) Spleen Qi deficiency  (b) Spleen Yang deficiency  
(c) Spleen Yin deficiency  (d) None  

 
(a) Qi   (b)   
(c)   (d) 

(40) Mother of wood element is - 
(a) Wood    (b) Water  
(c) Fire     (d) None  

 
(a)    (b)    
(c)   (d)  
 

(41) Varicose vein may be due to - 
(a) Sp Qi sinking   (b) K Qi sinking  
(c) Both     (d) None  
Varicose vein  
(a) Sp Qi sinking   (b) K Qi sinking   
(c)   (d) 
 

(42) Time of Stomach is – 
(a) 7 am – 9 am   (b) 7 pm – 9 pm 
(c) 9 pm – 11 pm   (d) None.  
Stomach  
(a) 7 am – 9 am   (b) 7 pm – 9 pm  
(c) 9 pm – 11 pm   (d) 

(43) Controller of Liver is - 
(a) Lungs    (b)Spleen  
(c) Kidney    (d) None  

 
(a)     (b)   
(c)   (d) 

  



(44) Pancreas meridian is located in - 
(a) Rt leg    (b) Lt leg  
(c) Rt hand    (d) None  
Pancreas meridian  
(a)    (b)   
(c)   (d)  

 
(45) Number of total points in Kidney meridian are - 

(a) 27     (b) 67  
(c) 45     (d) None 
Kidney meridian  
(a) 27     (b) 67   
(c) 45  (d)

(46) The smallest meridian is - 
(a) Kidney    (b) Pericardium  
(c) Heart    (d) None  

 
(a) Kidney    (b) Pericardium 
(c) Heart    (d) 
 

(47) Back shu point of the Kidney is - 
(a) UB - 13    (b) UB - 15   
(c) UB – 23    (d) None  
Kidney Back shu point  
(a) UB – 13    (b) UB - 15   
(c) UB - 23   (d) 
 

(48) Lower back pain may be due to - 
(a) Heart yang deficiency  (b) Spleen yang deficiency  
(c) Kidney yang deficiency (d) None  

 
(a)   (b)   
(c)   (d)

(49) Kidney and Urinary bladder are related to element - 
(a) Water    (b) Fire  
(c) Earth     (d) None  
Kidney Urinary bladder  
(a)    (b)  
(c) (d)



(50) Scanty period may be due to - 
(a) Liver blood deficiency  (b) Heart blood deficiency  
(c) Spleen blood deficiency (d) None  
Scanty period  
(a)   (b)    
(c)   (d)  

    ……….. 
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     (ONLINE EXAM) 

   Objective Questions( ) 

Attempt each questions:      50x2=100 

(1) Protocol for Gastritis is - 
(a)  36↑45↓    (b)  14↑23↓    
(c) 247↓56↑    (d) None 

(a) 36↑45↓    (b)  14↑23↓    
(c)  247↓56↑   (d) 
 

(2) Components of Ayurveda are - 
(a)  7     (b) 8    
(c) 6     (d) None 

 
(a)  7     (b) 8  
(c) 6     (d)  

(3)  ‘Smooth’ is the attribute of - 
(a)  Aakash    (b) Vayu    
(c) Agni     (d) None  

 
(a)     (b)     
(c)    (d) 

 
 
 



(4)  Treatment of Lt IF V jt will be for - 
(a)  St     (b) GB    
(c) Lungs    (d) None  
 Lt IF V jt  
(a)     (b)    
(c)      (d) 

(5) Which one is a type of pitta dosh - 
(a)  Bhrajak    (b) Bodhak    
(c) Kledak    (d) None 

 

(a)      (b)    

(c) (d) 

 
(6) Action organ leg is plotted on - 

(a) Rt IF P jt    (b) Lt MF P jt   
(c) Lt SF P jt    (d) None

 

(a)  Rt IF P jt    (b) Lt MF P jt  
(c) Lt SF P jt  (d)  

(7) Protocol to stop bleeding is - 
(a)  36↑45↓    (b)  256↓17↑  
(c) 34↓56↑    (d) None 

 

(a) 36↑45↓    (b)  256↓17↑  
(c) 34↓56↑    (d) 

 
(8) Permeability is the function of - 

(a) Water    (b) Earth   
(c) Space    (d) None

 

(a)      (b)     

(c)   (d)  

 



(9) Sense organ eyes are plotted on - 
(a)  Rt SF P jt    (b) Lt IF P jt  
(c) Lt MF P jt    (d) None 

 

(a) Rt SF P jt    (b) Lt IF P jt  
(c) Lt MF P jt    (d)  

 
(10) Treatment of ESR will be - 

(a)  Rt SF – 5/6 LHM  (b) Rt MF – 5/6 LHM   
(c) Lt RF – 5/6 LHM   (d) None 
ESR  

(a) Rt SF – 5/6 LHM   (b) Rt MF – 5/6 LHM  
(c) Lt RF – 5/6 LHM (d) 

(11) Blood vessel is the updhatu of - 
(a)  Blood    (b) Plasma  
(c) Bone     (d) None  

 
(a)       (b)  
(c)    (d) 
 

(12) Kidney is plotted on - 
(a)  F.No.7    (b) F.No.8   
(c) F.No.4    (d) None  

 
(a)  F.No.7    (b) F.No.8  
(c) F.No.4  (d) 
 

(13) Treatment on Both SF Kaph phalanx is for - 
(a)  UB     (b) Liver  
(c) Kidney    (d) None  
Both SF Kaph phalanx  
(a)     (b)   
(c)  (d) 
 
 



(14) Dryness is the function of - 
(a)  Vayu     (b) Water  
(c) Earth     (d) None 

(a)     (b)    
(c)    (d) 
 

(15) Place of Ranjak pitta in body are - 
(a)  Kidney    (b) Liver/Spleen  
(c) Lungs    (d) None  

 
(a)      (b)   
(c)  (d) 
 

(16) Treatment for Leucoderma will be - 
(a)  3↑4↓     (b) 5↓6↑   
(c) 3↓4↑     (d) None 

 
(a)  3↑4↓     (b) 5↓6↑  
(c)  3↓4↑  (d) 
 

(17) Head hair are updhatu of - 
(a)  Bone marrow   (b) Blood   
(c) Plasma    (d) None 

 
(a)      (b)    
(c) (d)
 

(18) How many types of tissue are - 
(a) 6     (b) 3  
(c) 7     (d) None  

 
(a) 6      (b) 3  
(c) 7   (d) 
 
 
 
 



(19) Protocol for T.B. of Li will be - 
(a)  34↓56↑    (b) 036↑459↓    
(c) 256↓17↑    (d) None  

T.B.  
(a) 34↓56↑    (b) 036↑459↓   
(c) 256↓17↑ (d)  
 

(20) Sharp is the attribute of - 
(a) Fire     (b) Earth 
(c) Water    (d) None  

 
(a)      (b)  
(c) (d) 

(21) Adipose tissue is plotted on - 
(a)  Lt IF P jt    (b) Lt SF P jt   
(c) Lt RF P jt    (d) None 

 
(a) Lt IF P jt    (b) Lt SF P jt  
(c) Lt RF P jt (d) 
 

(22) Treatment to increase platelet will be on: 
(a) Both MF    (b) Both SF  
(c) Both RF     (d) None  

 
(a)  Both MF    (b) Both SF  
(c) Both RF   (d) 
 

(23) Mucous is the malas of which tissue - 
(a)  Plasma    (b) Blood   
(c) Bone     (d) None 

 
(a)     (b) 
(c)   (d) 
 
 
 



(24) Body hole Nose are plotted on - 
(a)  Both IF P jts   (b) Both MF P jts   
(c) Both RF P jts   (d) None 

 
(a)  Both IF P jts   (b) Both MF P jts 
(c) Both RF P jts   (d)  

 
(25) Treatment of Spleenomegaly will be - 

(a)  Rt MF 5/6 LHM   (b) Rt RF 5/6 LHM   
(c) Rt IF 5/6 LHM   (d) None 

 
(a) Rt MF 5/6 LHM   (b) Rt RF 5/6 LHM  
(c) Rt IF 5/6 LHM   (d) 
 

(26) Coldness is the function of - 
(a)  Water    (b) Fire   
(c) Earth     (d) None  

 
(a)      (b) 
(c) (d) 

(27) Endocrine gland located on Rt MF P jt is - 
(a) Ovaries    (b) Pineal   
(c) Thyroid    (d) None  

Rt MF P jt  
(a)     (b)   

(c)  (d) 
 

(28) Treatment of deficiency of Hemoglobin  will be on - 
(a)  Both MF    (b) Both SF   
(c) Both IF    (d) None 

 
(a)  Both MF    (b) Both SF  
(c) Both IF   (d) 
 
 
 
 



(29) Kaph is the combination of - 
(a) Jal + Prithvi   (b) Aakash + Vayu  
(c) Agni + Jal     (d) None 

 
(a) +    (b) +   
(c) + (d)  

(30) Bone tissue is plotted on - 
(a)  Lt RF P jt    (b) Lt IF P jt   
(c) Rt RF P jt    (d) None  

 
(a)  Lt RF P jt    (b) Lt IF P jt  
(c) Rt RF P jt   (d) 
 

(31) Treatment of Hepatomegally will be on - 
(a) Lt SF – 5/6 LHM   (b) Lt IF – 5/6 LHM   
(c) Rt SF – 5/6 LHM   (d) None  

 
(a) Lt SF – 5/6 LHM  (b) Lt IF – 5/6 LHM 
(c) Rt SF – 5/6 LHM (d) 
 

(32) Pancreas gland is located on – 
(a) Rt IF P jt    (b) Lt SF P jt  
(c) Lt IF P jt    (d) None 

 
(a) Rt IF P jt    (b) Lt SF P jt  
(c)  Lt IF P jt   (d) 

 
(33) Body hole mouth is plotted jon - 

(a) Lt MF P jt    (b) Rt IF P jt  
(c) Rt RF P jt    (d) None  

 
(a) Lt MF P jt    (b) Rt IF P jt  
(c) Rt RF P jt  (d) 
 
 
 



(34) Treatment of Left ventricular hypertrophy of Heart will be on - 
(a) Rt RF 8th Hzm   (b) Rt MF 7th Hzm   
(c) Lt SF 7th Hzm   (d) None  

 
(a)  Rt RF 8th Hzm   (b) Rt MF 7th Hzm   
(c) Lt SF 7th Hzm  (d)
 

(35) Pitta consists of - 
(a) Agni + Jal    (b) Jal + Prithvi  
(c) Aakash + Vayu   (d) None 

 
(a) +    (b) +   
(c)  +  (d) 

(36) Reproductive tissue is plotted on - 
(a) Rt IF P jt    (b) Lt IF P jt   
(c) Lt MF P jt    (d) None 

 
(a) Rt IF P jt    (b) Lt IF P jt   
(c) Lt MF P jt     (d) 

(37) Treatment of low immune profile will be on - 
(a) RMM – 0/1    (b) LMM – 7/8 (Br-oF)    
(c) RMM – 3/4    (d) None  

 
(a)  RMM – 0/1   (b) LMM – 7/8 (Br-oF)  
(c) RMM – 3/4    (d)  

  
(38) Stability is the function of - 

(a) Earth    (b) Water   
(c) Space    (d) None 

 
(a)      (b)    
(c)   (d)  
 
 
 



(39) Which one is the common attribute - 
(a) Stable    (b) Quantity  
(c) Hot     (d) None  

 
(a)    (b)   
(c)    (d) 

(40) Treatment of Itching will be on - 
(a) 36↑45↓    (b) 245↓37↑   
(c) 14↑23↓    (d) None  

 
(a)  36↑45↓    (b) 245↓37↑  
(c) 14↑23↓   (d) 
 

(41) Vaat consists of - 
(a) Aakash + Vayu   (b) Agni + Jal   
(c) Jal + Prithvi   (d) None  

 
(a)  +    (b) +   
(c) +   (d) 
 

(42) Which organ is plotted on Lt MF V jt – 
(a) Mid brain    (b) Medulla  
(c) Pons     (d) None  
Lt MF V jt  
(a) Mid brain    (b) Medulla  
(c) Pons     (d)  

 
(43) Treatment for Appendicitis will be on - 

(a) Rt IF 9 VM    (b) Rt SF 0 VM  
(c) Rt MF 1 VM   (d) None  

 
(a) Rt IF 9 VM   (b) Rt SF 0 VM    
(c) Rt MF 1 VM (d) 
 
 



(44) Heavy is the attribute of - 
(a) Earth    (b) Fire   
(c) Water    (d) None  

 
(a)     (b)    

(c)     (d) 
 

(45) Treatment for Sinusitis will be on - 
(a) Rt Thumb – 1/2 LHM  (b) Lt MF – 7/8 LHM   
(c) Rt RF – 4 Hzm   (d) None  

 
(a) Rt Thumb – 1/2 LHM  (b) Lt MF – 7/8 LHM  
(c) Rt RF – 4 Hzm (d)

(46) Treatment of Kid stone will be on - 
(a) Rt SF K jt    (b) Rt RF V jt  
(c) Rt IF K jt    (d) None 

 
(a) Rt SF K jt    (b) Rt RF V jt  
(c) Rt IF K jt    (d)  
 

(47) As per Ayurvedic biological clock time of Kaph is - 
(a) 4 PM to 12 AM   (b) 2 to 4 PM  
(c) 8 to 10 AM    (d) None 

 
(a)   (b) 
(c)    (d) 

(48) How many doshas are - 
(a) 4     (b) 5  
(c) 3     (d) None  

 
(a) 4    (b) 5  
(c)  3    (d)  
 
 
 



(49) Cohesion is the function of - 
(a) Water    (b) Fire   
(c) Space    (d) None  

 
(a)     (b)   
(c)     (d)  

(50) Treatment of Liver cancer will be on - 
(a) Rt MF – all RLHM  (b) Lt IF – all RLHM  
(c) Lt SF – all RLHM  (d) None  

 
(a) Rt MF – all RLHM  (b) Lt IF – all RLHM  
(c) Lt SF – all RLHM  (d)     
    ………… 

 

 

 

 


